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BRI 4,790,850 + 113,865 4,904, 715
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Z Ot AT 4,790,850 x 53.85% ( 35% =~ (1 — 35%) ) 2,579, 872
KHRE 4,904, 715 + 2,579, 872 7, 484, 587
—REEES 7,484,587 x 53.85% ( 35% = (1 — 35%) ) — 5037 4,025, 413
E3T T 7,484,587 + 4,025,413 11,510, 000
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EBTEH 11,510,000 + 1, 151, 000 12, 661, 000




BERNRE BN RERN RIEEH

% 5 B - ikt Bifg H 2 B & & #mE
BRI 4,904, 715
FHE - % - AEEER 4,904, 715
BIEHESRAEER 4,904, 715
BEHERE 4,790, 850
FTEIEE 415, 450
1 ETE#E 1.00 415, 450 415, 450
=
e T 2,436, 350
2059V K7 h—FAVVE-EREER 1.00 2, 436, 350 2,436, 350
TEICEAY &5t %
I
EREMSDRE - EE 947, 200
3 ERERESORE 2.00 198, 300 396, 600
[al
4 ERERSEHNOER 2.00 275, 300 550, 600
[a]
FERE 540, 500
5 ERitHE 1.00 117, 400 117, 400
[al
6 R 2.00 117, 400 234, 800
[=]
1 mREmE 1.00 188, 300 188, 300
&l
KR 451, 350
8 EBETERREER 1.00 451, 350 451, 350
=
EERE 113, 865




BERNRE BN RERN RIEEH

% R Bg - KT BN % 8 H @ ® % B =

EHAME 42,503

9 EHRARE 1.00 42,503 42,503
=

R 57,000

10 EFMER 1.00 57,000 57,000
=X

ZERRESE 14, 362

11 #e 1.00 14, 362 14, 362
=X




o

KRMFJ-FET/ N5 —2 ENREMTRER R IEER
&= 1
%% SHEER 14y
% [ g - BIKTE ==Riv] 2 i ] i =
HEnE
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A 1.50 62, 200. 00 93, 300
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=1 5 YEZRES - 1.00[= 275, 300. 00 275, 300
&S5
£ %5 . BATHE HEED)
Z2 [ R - KT =R = i £ W E i =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=1 il YEZRES : 1.00[= 117, 400. 00 117, 400




REKR-FET/\vr—

ERRMRERAIERT

S .6
2 . hRERE HEEP
% [ g - BIKTE ==Riv] 2 i ] i =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=1 5 YEZHES - 1.00[H 117, 400. 00 117, 400
&= .1
&% RERBE EEP
% [z g - BIRTE ==Rivi 2 i ] i =
HEnE
A 1.00 70, 900. 00 70, 900
EXEETACH))
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=) Bt YEZHES - 1.00[] 188, 300. 00 188, 300
5.8
¥ EFRTEREEER 14y
% {1 g - BIRTE =¥ 2 fifi £ i =
EXEETACHD)
A 1.50 62, 200. 00 93, 300
HER (A)
A 2.50 55, 200. 00 138, 000
HER (B)
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